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246000 0 — 246000 0 245000 0 26000 0 26000 0 26000 0 26000 0 /3w (0-0) ~ » 0O 00O 4G - € ' | |
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JEZ=E50000 0 - B13£60000 0 B13£60000 0 1360000 0 B13£60000 0 B13£60000 0 /o 3 % *
213100 0 - 13100 0 213100 0 1000 3100 0 1000 1/3u i =] ¥
2132000 0 - 132000 0 132000 0 B3£2000 0 432000 0 B13£2000 0 1/3u bl s + X
2136000 0 - 136000 0 4 436000 0 H36000 0 436000 0 B36000 0 1/3u ~ ¥
213000 0 - 2134000 0 |I&3v000 0 2434000 0 000 0 234000 0 3000 0 1/3u = X
2136000 0 - 136000 0 ||&35000 0 436000 0 H36000 0 436000 0 36000 0 1/3u ~ ¥
2130000 0 - 1340000 0 4340000 0 30000 0 4310000 0 30000 0 1/3u ( 1L X
213£9000 ‘0 - 139000 0 139000 0 #13£9000 0 139000 0 139000 0 1/3u i “ ¥
2136000 0 - 136000 0 436000 0 H36000 0 436000 0 36000 0 1/3u a = X
213£6000 0 - 136000 0 136000 0 B136000 0 136000 0 136000 0 1/3u ( O N c ¥
%1000 - 21/00 0 213/00 0 1000 /00 0 1000 1/3u ( < £ 2
213£60000 0 - 1360000 0 S3£€0000 0 H3£60000 0 B13£€0000 0 H3£60000 0 /3w h & hd
2131000 0 - 13/000 0 243/000 0 H1000 0 43/000 0 B31000 0 1/3u bl s v
2131000 0 - 131000 0 131000 0 B3 1000 0 131000 0 131000 0 1/3u ( oY v ) v
2134000 0 - 2134000 0 2 34000 0 3000 0 234000 0 31000 0 /3w £ v v
213600 0 - 13600 0 |l 3200 0 13600 0 B¥600 0 B3€00 0 BI600 0 1/3u ~ v
#3200 0 - 13200 0 |l&:3200 0 13200 0 3200 0 13200 0 #3200 0 /3w ~ v
2130000 0 - 130000 0 |l:3v0000 ‘0 24340000 0 30000 0 4340000 0 310000 0 /3w £ v
2136000 0 - 2136000 0 I=36000 0 136000 0 136000 0 436000 0 136000 0 1/3u ~ v
#1000 - 13100 0 |lex100 0 13100 0 1000 213100 0 1000 /3w ~ Y |00}
2132000 0 - 132000 0 I&32000 0 432000 0 132000 0 432000 0 37000 0 /3w ar E v |66
#1000 - 13100 0 |le2100 0 213100 0 1000 13100 0 1000 /3w d £ |86
236000 0 — 36000 0 |l£5000 0 36000 0 H136000 0 136000 0 36000 0 /3w ar £’ £ |6
213£6000 0 - 136000 0 |l#25000 0 136000 0 136000 0 136000 0 136000 0 /3w o £ |96
236000 0 — 36000 0 |l:£5000 0 136000 0 136000 0 136000 0 36000 0 /3w ar £ |56
2136000 0 - 2136000 0 |l=36000 0 2436000 0 136000 0 136000 0 136000 0 /3w ~ £ |e6
2136000 0 - 136000 0 |I=35000 0 436000 0 136000 0 136000 0 36000 0 /3w ar £ |26
213£€000 0 - 136000 0 |l=3000 0 436000 0 H136000 0 436000 0 36000 0 1/3u N4 c |16
2132000 0 - 132000 0 I&32000 0 432000 0 #2000 0 432000 0 37000 0 /3w ~ S £ |06
232000 0 — 32000 0 132000 0 32000 0 #2000 0 32000 0 37000 0 /3w 24 £ |68
23000 0 — 3000 0 |l:¢€000 0 3000 0 #3€000 0 %3000 0 3£€000 0 /3w i £ |88
#1000 — %1000 %1000 %1000 #1000 %1000 #1000 /3w d c |8
231000 0 — 31000 0 _— %1000 0 31000 0 31000 0 31000 0 31000 0 /3w d c |98

J%3£0000 0 — 13£/0000 0 [2£10000 0 3£/0000 0 B3£10000 0 S3£/0000 0 B3£10000 0 /3w ( ) c |s8
#3£90000 0 — 1390000 0 |l290000 0 1390000 0 390000 0 390000 0 #3£90000 0 /3w ( Al c |8
#3000 0 — 3000 0 |l¢000 0 %3000 0 €000 0 3000 0 €000 0 /3w ( g [ 4]
231000 0 I 31000 0 |l 1000 0 31000 0 31000 0 31000 0 31000 0 /3w ( ) c |18
#3£600000 0 — 3600000 0 |l¢500000 ‘0 3600000 0 #3£500000 0 13600000 0 #3£600000 0 /3w o [ (]
231000 0 — 31000 0 |l:v000 0 31000 0 31000 0 31000 0 31000 0 /3w ~ A |6L
232000 0 — 32000 0 |l2000 0 32000 0 #2000 0 32000 0 32000 0 /3w c v A 8L
#3£20000 0 — 320000 0 |l220000 0 320000 0 320000 0 320000 0 #3£20000 0 /3w ~ A L
232000 0 — 32000 0 |l2000 0 32000 0 #2000 0 32000 0 32000 0 /3w ( < A |9
#3$0000 0 — 310000 0 |l2:£%0000 0 310000 0 310000 0 310000 0 #3$0000 0 /3w ~ A |sL
23600000 0 I 3600000 0 |l22600000 0 13600000 0 3600000 0 13600000 0 #3600000 0 /3w 24 A |eL
23000 0 — 3000 0 |lt¢€000 0 %3000 0 €000 0 %3000 0 #3€000 0 /3w R i 173
239000 0 — 39000 0 |l9000 0 39000 0 %3£9000 0 %139000 0 39000 0 /3w ~ < e (VA
%100 0 — %1000 |l 100 0 %1000 #1000 %1000 #1000 /3w o 5 169
#3£60000 0 — 360000 0 |I:2£50000 0 360000 0 #3£G0000 0 360000 0 #3£G50000 0 /3w ( ) 5 189
2390000 0 — 390000 0 |l290000 0 390000 0 390000 0 1390000 0 390000 0 /3w o R 11}
232000 0 I 32000 0 |l2000 0 32000 0 32000 0 32000 0 32000 0 /3w ( g o £ 199
232000 0 — 32000 0 l2000 0 32000 0 32000 0 32000 0 32000 0 /3w c o« v £ |99
#3000 I 300 0 |letxee00 0 %600 0 €00 0 %600 0 €00 0 /3w o bl L £ |79
238000 0 — 238000 0 |l£8000 0 133000 0 38000 0 %133000 0 38000 0 /3w c £ 19
232000 0 — 32000 0 |l2000 0 32000 0 #2000 0 32000 0 32000 0 /3w 7 < E 4]
23100 0 — 3100 0 23100 0 31000 23100 0 3100 0 23100 0 /3w 10 £ |19

CEASTAChD)

68




V  EVIRRERBR
(1) Z3lERK

(ER28FE)

( /mL)
= o b 110 80 20 110 14 30 30 22 46 34 42 154
Achnanthes spp. 10 2 2
Amphora  spp. 2 2
Asterionella spp. 2
Aulacoseria spp. 2
Cocconeis spp. 4 8 14 2 2 2
Cyclotella spp. 6 6 6 2 2 6
Cymbella spp. 14 4 2 4 8 6 4 2 8 4 8 28
Diatoma spp. 4
Diploneis spp. 2 6
Fragilaria spp. 6 2 16
Gomphonema  spp. 2 6 2 2 2 2 12
Melosira spp. 12 30 4 4 2 2 2 4
Navicula spp. 68 28 12 36 22 16 20 2 20 8 22 34
Nitzschia spp. 10 6 4 2 2 2 4 4 8
Pinnularia spp. 4 2 22 10 4 6 2 44
Rhoicosphenia spp. 2 2 4 4 12
Synedra ulna 4
Synedra _ spp. 2
% E ] 0 2 0 0 2 4 0 0 2 2 2 0
Chlamydomonas spp. 2
Coelastrum spp. 2
Oocystis spp. 2
Pediastrum spp. 2
Scenedesmus  spp. 2 2
Tetraspora _spp. 2
9T B 0 0 0 0 0 2 0 0 0 0 0 0
cryptomonas  spp. 2
W E = 0 0 0 0 0 0 2 0 0 0 0 0
& Y| #w 110 82 20 110 76 36 32 22 48 36 44 154
(2) ZFITERK (E28FE)
( /mL)
E B B 3 2 0 0 0 0 0 1 3 10 1 1
Cocconels spp. 1 1
Cymbella spp. 3
Gomphonema  spp. 1
Melosira spp. 1
Navicula spp. 3 1 4 1 1
Nitzschia spp. 1
Pinnularia spp. 1 1
Rhoicosphenia spp. 1
% = £ 0 0 0 0 0 1 0 0 0 0 0 0
|G]05'00ysti's Spp. 1
& Y| #w 3 2 0 0 0 1 0 1 3 10 1 1
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